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Determine which of the following Al A Bl e (ol 3aa

relations is a function.

a {(5,-1),(3,2),(-2,-2)} O
o} ((-3,2),(4:1),(-3,5)) ®:
¢ {(-3,-4),(-3,6),(8,-2)) O

d. {(2,-1),(4,-1),(2,6)}
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form of the line that passes through 5 aliag i (3,2) Ablily
(3,2) with a slope of 5.
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which of the following is equivalent ad) ¢ A A Las gl
to the expression ¢(3x2+5x—-12)-2(x*+4x+9)
(3x2 + 5x — 12) — 2(x% + 4x + 9)?
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Which of the following is a solution of 35 3 bl
x+6x—7=0? tx?+6x—-7=0

75%

1520 ©

2,9

8:47

4




10:08

= ‘ 2022-2021 plall- Slual i - sle silall ol - (ol Lisyl BaE s 200
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renting a bicycle at a bike shop (ap AN A e s el bl ilala Joiz e dllile dacls 44l
located in Dubai Beach. What is il ale S o
a function that can represent this
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the number of toppings added to a paadl S il e AED 13.50 b
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AED 13.50 on a large pizza. How ’ O

many toppings did he get?
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the perimeter of the rectangle
below?
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L. 0.000000006504
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